MATHS

BOOKS - RS AGGARWAL MATHS
(HINGLISH)

RATIO, PROPORTION AND UNITARY
METHOD

Solved Examples

1. Convert the ratio 40: 25 in its simplest form.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SPIpjh3Bb3WJ

l ° Watch Video Solution

2. Express the ratio 87:58 in simplest form.

° Watch Video Solution

3. Suppose that Kunal's weight is 28 kg and
Tanvy's weight is 32 kg. Then,ratio of there

weight

° Watch Video Solution



https://dl.doubtnut.com/l/_SPIpjh3Bb3WJ
https://dl.doubtnut.com/l/_tNZrhXSIMl7E
https://dl.doubtnut.com/l/_CsGK35xY7lIK
https://dl.doubtnut.com/l/_qfhiA99WzMdM

4. Find the ratio of 40 cm to 1.5 m.

o Watch Video Solution

5. The length and the breadth of a rectangular

park are 75 m and 60 m respectively. What is

the ratio of the length to the breadth of the

park?

A4:5

B.5:4

C.2:3


https://dl.doubtnut.com/l/_qfhiA99WzMdM
https://dl.doubtnut.com/l/_tk8jv3r5W3pD

D.3:2

Answer: B

° Watch Video Solution

6. The length of a pencil is 16cm and its
diameter is 6mm. What is the ratio of the
diameter of the pencil to that of its length?

A.7:80

B.3: 80


https://dl.doubtnut.com/l/_tk8jv3r5W3pD
https://dl.doubtnut.com/l/_tuWwjDUJdKqd

C.9:80

D. 7:50

Answer: B

° Watch Video Solution

7. Find the ratio of 90 cm to 1.5 m.

° Watch Video Solution



https://dl.doubtnut.com/l/_tuWwjDUJdKqd
https://dl.doubtnut.com/l/_e0Sz2WZBxj1J

8.Find the ratio of a. 36 minutes to an hour b.
40 paiseto¥3 c. 125 mLto 2 L d. a dozen to a

score

o Watch Video Solution

9. Find two equivalent ratios of 3: 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_NKksGOqlwKvn
https://dl.doubtnut.com/l/_GVu56qO6Ifh4

10. Fill in the blank boxes:
14 [] 6

21 3 O

o Watch Video Solution

11. Two numbers are in the ratio 5 : 4 and their

sum is 162. Find the numbers.

A. 90 and 72.

B. 80 and 72.

C.90 and 62.


https://dl.doubtnut.com/l/_ZKR21f9VrdFd
https://dl.doubtnut.com/l/_Nf3E8e0225dg

D.70 and 72.

Answer: A

o Watch Video Solution

12. Divide %1250 between Mayank and Ishita in

the ratio 3:2.

° Watch Video Solution



https://dl.doubtnut.com/l/_Nf3E8e0225dg
https://dl.doubtnut.com/l/_b3CMgBj6KP4C

13. Divide ¥1200 among A, B and C in the ratio

2:3:5.

o Watch Video Solution

14. Compare the ratios (5:6) and (3:4).

A.(5:6) = (3:4).
B.(5:6) < (3:4).
C.(5:6) > (3:4).

D. none of these


https://dl.doubtnut.com/l/_mMOiBOFiiHr3
https://dl.doubtnut.com/l/_JusUWskPd6xX

Answer: C

o Watch Video Solution

15. The ratio of copper and zinc in an alloy is
5:3. If the weight of copper in the alloy is 30.5

g. find the weight of zinc in it.

o Watch Video Solution

16. Are the ratio in proportion of weight and

volume.


https://dl.doubtnut.com/l/_JusUWskPd6xX
https://dl.doubtnut.com/l/_DpEnwqt7x5Dw
https://dl.doubtnut.com/l/_5kOFr0wK0IA1

It is given that the weights of 150 litres and
100 litres of kerosene oil are 135 kg and 90 kg

respectively.

o Watch Video Solution

17. Are the ratios 45 g: 60 g and 36 kg : 48 kg in

proportion?

° Watch Video Solution

18. Are 30, 40, 45, 60 in proportion?


https://dl.doubtnut.com/l/_5kOFr0wK0IA1
https://dl.doubtnut.com/l/_nda5HP52XDL7
https://dl.doubtnut.com/l/_PLEMk9J6JWK5

° Watch Video Solution

19. Are 20,18, 5, 6 in proportion?

° Watch Video Solution

20. If 36: 81::X: 63, find the value of x.

A. 38

B. 28

C. 48


https://dl.doubtnut.com/l/_PLEMk9J6JWK5
https://dl.doubtnut.com/l/_tyKyNJMSjl8w
https://dl.doubtnut.com/l/_dOrBW7wPzURx

D. 58

Answer: B

o Watch Video Solution

21.If 36: x :: x :63, find the value of x.

o Watch Video Solution

22.if 25,35, x are in propotion find the value of

X?


https://dl.doubtnut.com/l/_dOrBW7wPzURx
https://dl.doubtnut.com/l/_u0pL2uu3tvjB
https://dl.doubtnut.com/l/_IOiM6Mfur10S

B.z = 39

C.x = 29

D.x = 59
Answer: A

o Watch Video Solution

23. If 15 oranges cost ¥ 70. what is the cost of

39 oranges?


https://dl.doubtnut.com/l/_IOiM6Mfur10S
https://dl.doubtnut.com/l/_lTochEqHubak

A.7162

B.%172

C.%182

D.3192

Answer: C

o Watch Video Solution

24. A truck runs 492 km on 36 L of diesel. How

many kilometres can it run on 33 L of diesel?


https://dl.doubtnut.com/l/_lTochEqHubak
https://dl.doubtnut.com/l/_8CFlESJ9TkRU

A. 151 km

B. 251 km

C. 351 km

D. 451 km

Answer: D

o Watch Video Solution

25. 25 bags of wheat, each weighing 50 kg.
cost ¥ 10000. Find the cost of 35 bags of

wheat each weighing 40 kg.


https://dl.doubtnut.com/l/_8CFlESJ9TkRU
https://dl.doubtnut.com/l/_6GyTWhaiH4Nv

° Watch Video Solution

26. 12 men can reap a field in 25 days. In how

many days can 20 men reap the same field?

A. 65 days

B. 35 days

C. 15 days

D. 25 days

Answer: C

| 8 l


https://dl.doubtnut.com/l/_6GyTWhaiH4Nv
https://dl.doubtnut.com/l/_2qsGMAQB7Lzs

27.1n an army camp, there were provisions for
425 men for 30 days. However, 375 men
attended the camp. How long did the

provisions last?

o Watch Video Solution

28. Find the ratio of price of coffee to that of
tea when coffee costs 24 per 100 gram tea

costs ¥ 180 per kilogram.



https://dl.doubtnut.com/l/_2qsGMAQB7Lzs
https://dl.doubtnut.com/l/_tHU9P0bbIoCC
https://dl.doubtnut.com/l/_aA2GNFDd1Imn

l ° Watch Video Solution

Exercise 10 A

1. Find ratio in the simplest form:

a. 24 to 56

b. 84 paise to ¥3
c.4kgto750¢g

d. 1.8 kg to 6 kg

e. 48 minutes to 1 hour

f.2.4 km to 900 m

l ﬂ Watch Video Solution


https://dl.doubtnut.com/l/_aA2GNFDd1Imn
https://dl.doubtnut.com/l/_bt1lmNOYm3UK

2. Express ratio in the simplest form:
a.36:90

b.324:144

c. 85: 561

d. 480: 384

e.186: 403

f.777 : 1147

o Watch Video Solution



https://dl.doubtnut.com/l/_bt1lmNOYm3UK
https://dl.doubtnut.com/l/_0yedeOJIxpc0

3. Write ratio in the simplest form:
a.¥ 6.30:316.80

b. 3 weeks : 30 days
c.3m5cm:35cm

d. 48 min: 2 hours 40 min
e.1L35mL: 270 ml

f.4 kg: 2kg 500 g

o Watch Video Solution



https://dl.doubtnut.com/l/_tYKnwDN24QG2

4. Mr Sahai and his wife are both school
teachers and earn 16800 and 10500 per
month respectively. Find the ratio of

a. Mr Sahai's income to his wife's income,

b. Mrs Sahai's income to her husband's
income,

c. Mr Sahai's income to the total income of the

two.

o Watch Video Solution



https://dl.doubtnut.com/l/_e1WKmfAxpGPl

5. Rohit earns ¥15300 and saves ¥ 1224 per
month. Find the ratio of

a. his income and savings:

b. his income and expenditure,

c. his expenditure and savings.

o Watch Video Solution

6. The ratio of the number of male and female

workers in a textile mill is 5:3. If there are 115


https://dl.doubtnut.com/l/_KU7rf75ecgOz
https://dl.doubtnut.com/l/_Nn6LpvkScP6G

male workers, what is the number of female

workers in the mill?

° Watch Video Solution

7.The boys and the girls in a school are in the
ratio 9:5. If the total strength of the school is

448, find the number of girls.

° Watch Video Solution



https://dl.doubtnut.com/l/_Nn6LpvkScP6G
https://dl.doubtnut.com/l/_kHhScvzEBURs

8. Divide ¥1575 between Kamal and Madhu in

the ratio 7: 2.

o Watch Video Solution

9. Divide ¥ 3450 among A, B and C in the ratio

3:5:7.

o Watch Video Solution



https://dl.doubtnut.com/l/_y2Uhq9L3MwDE
https://dl.doubtnut.com/l/_IGNSkcdTB7pT

10. Two numbers are in the ratio 11:12 and their

sum is 460. Find the numbers.

A. 220, 240

B. 220, 220

C. 210, 240

D. 200, 240

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4JRsneWv4oDg
https://dl.doubtnut.com/l/_h2z32CJK3dtT

11. A 35-cm line segment is divided into two
parts in the ratio 4:3. Find the length of each

part.

o Watch Video Solution

12. A factory produces electric bulbs. If 1 out of
every 10 bulbs is defective and the factory
produces 630 bulbs per day, find the number

of defective bulbs produced each day.

o Watch Video Solution



https://dl.doubtnut.com/l/_h2z32CJK3dtT
https://dl.doubtnut.com/l/_RXPq2SEv1DSo
https://dl.doubtnut.com/l/_hklqrdltvSFW

13. Find the ratio of the price of a pencil to
that of a ball pen if pencils cost ¥ 96 per score

and ball pens cost ¥ 50.40 per dozen.

o Watch Video Solution

14. The ratio of the length of a field to its
width is 5:3. Find its length if the width is 42

metres.

o Watch Video Solution



https://dl.doubtnut.com/l/_hklqrdltvSFW
https://dl.doubtnut.com/l/_rJN4xn3BvLCs
https://dl.doubtnut.com/l/_lOmOmFOs2boH

15. The ratio of income to savings of a family is
11: 2. Find the expenditure if the savings is ¥

1520.

o Watch Video Solution

16. The ratio of income to expenditure of a
family is 7:6. Find the savings if the income is ¥

14000.

o Watch Video Solution



https://dl.doubtnut.com/l/_lOmOmFOs2boH
https://dl.doubtnut.com/l/_cwx4Xq3Ccp4E

17. The ratio of zinc and copper in an alloy is
7:9. If the weight of copper in the alloy is 11.7

kg, find the weight of zinc in it.

o Watch Video Solution

18. A bus covers 128 km in 2 hours and a train
covers 240 km in 3 hours. Find the ratio of

their speeds.

o Watch Video Solution



https://dl.doubtnut.com/l/_fKstAo0MCfLU
https://dl.doubtnut.com/l/_8GbzRmuiA4QA
https://dl.doubtnut.com/l/_7iFVrwGEFcaS

19. From the given pair, find which ratio is
larger:

a.(3:4)or (9:16)

b. (5:12) or (17 : 30)

c.(3:7) or (4:9)

d.(1:2) or (13:27)

o Watch Video Solution

20. Fill in the place holders:
24 L] 12

a.— =
40 5 L]


https://dl.doubtnut.com/l/_7iFVrwGEFcaS
https://dl.doubtnut.com/l/_vWZO8BHAMquc

p 36 _ 4 U
63 O 21
5 O 35
“7 T 98 T O

o Watch Video Solution

Exercise 10 B

1. Determine if the numbers are in proportion:
a.4,6,8,12

b.7,42,13,78

c.33,121,9, 96

d.22,33,42,63


https://dl.doubtnut.com/l/_vWZO8BHAMquc
https://dl.doubtnut.com/l/_RD87Z0V1aukl

e.32,48,70, 210

f. 150, 200, 250, 300

° Watch Video Solution

2. Verify:

a.60:105:: 84 : 147
b.91:104::119: 136
c.108:72::129: 86

d.39: 65 :: 141: 235

° Watch Video Solution



https://dl.doubtnut.com/l/_RD87Z0V1aukl
https://dl.doubtnut.com/l/_wzYKmNkMu20G
https://dl.doubtnut.com/l/_8bYVHgUBQw9l

3. Find the value of x in the proportions:
a.55:11: :x: 6

b. 27 :x::63: 84

C.51:85::57:x

d.x: 92 :: 87: 116

° Watch Video Solution

4. \Write (T) for true and (F) for false :
a.51:68::85:102
b.36:45::80:100

c.30 bags : 18 bags : : ¥ 450: ¥ 270


https://dl.doubtnut.com/l/_8bYVHgUBQw9l
https://dl.doubtnut.com/l/_up7Ui5xoSt8i

d.81kg:45kg:: 18 men: 10 men
e.45km: 60 km::12h:15h

f.32kg:¥36::8kg:%9

° Watch Video Solution

5. Determine if the following ratios form a
proportion. Also, write the middle terms and
extreme terms where the ratios form a
proportion. (@) 25 cm : T m and Rs 40 : Rs 160
(b) 39 litres : 65 litres and 6 bottles : 10 bottles

(c)2kg:80kgand 25 g

| e |


https://dl.doubtnut.com/l/_up7Ui5xoSt8i
https://dl.doubtnut.com/l/_poHsfO861x8c

& Wwatch Video Solution I

6.In a proportion, the 1st, 2nd and 4th terms
are 51, 68 and 108 respectively. Find the 3rd

term.

° Watch Video Solution

7. The Ist. 3rd and 4th terms of a proportion

are 12, 8 and 14 respectively. Find the 2nd term.

o Watch Video Solution



https://dl.doubtnut.com/l/_poHsfO861x8c
https://dl.doubtnut.com/l/_NRVgyhfEdomS
https://dl.doubtnut.com/l/_Qr14cxogzw8t

8. Show that the numbers are in continued
proportion:
a. 48, 60, 75
b. 36,90, 225

C. 16, 84, 441

o Watch Video Solution

9.1f 9, x, x, 49 are in proportion, find the value

of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_2X0vSXpJJhpV
https://dl.doubtnut.com/l/_7rj5kcolJoIZ

10. An electric pole casts a shadow of length
20 m at a time when a tree 6 m high casts a
shadow of length 8 m. Find the height of the

pole.

o Watch Video Solution

11. Find the value of x if 5:3 :: x: 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_7rj5kcolJoIZ
https://dl.doubtnut.com/l/_v4u7bGijvY25
https://dl.doubtnut.com/l/_YZMmlYsQ1oEh

Exercise 10 C

1. If the cost of 14 m of cloth is ¥ 1890, find the

cost of 6 m of cloth.

o Watch Video Solution

2. If the cost of a dozen soaps is ¥ 285.60, what

will be the cost of 15 such soaps?

° Watch Video Solution



https://dl.doubtnut.com/l/_n8n3eg9x24a2
https://dl.doubtnut.com/l/_k1A7wz0rHw22
https://dl.doubtnut.com/l/_h5eMK3BLayzh

3.1f 9 kg of rice costs ¥ 327.60, what will be the

cost of 50 kg of rice?

o Watch Video Solution

4.1f 22.5 m of a uniform iron rod weighs 85.5
kg, what will be the weight of 5 m of the same

rod?

o Watch Video Solution



https://dl.doubtnut.com/l/_h5eMK3BLayzh
https://dl.doubtnut.com/l/_fyK2FPv4mFo6

5. If 15 tins of the same size contain 234 kg of

oil, how much oil will there be in 10 such tins?

° Watch Video Solution

6. If 12 L of diesel is consumed by a car in
covering a distance of 222 km, how many

kilometres will it go in 22 L of diesel?

° Watch Video Solution



https://dl.doubtnut.com/l/_NaD1QTi2EBCo
https://dl.doubtnut.com/l/_er9d70F1Gr1R

7. A transport company charges ¥ 540 to carry
25 tonnes of weight. What will it charge to

carry 35 tonnes?

o Watch Video Solution

8.4.5 g of an alloy of copper and zinc contains
3.5 g of copper. What weight of copper will

there be in 18.9 g of the alloy?

o Watch Video Solution



https://dl.doubtnut.com/l/_goL4Gp0JRvVr
https://dl.doubtnut.com/l/_6D6mGolAi7Qq
https://dl.doubtnut.com/l/_EV19wVCGmRl5

9. 35 inland letters cost ¥ 87.50. How many

such letters can we buy for ¥ 3157

° Watch Video Solution

10. Cost of 4 dozen bananas is ¥ 104. How

many bananas can be purchased for ¥ 6.50?

o Watch Video Solution



https://dl.doubtnut.com/l/_EV19wVCGmRl5
https://dl.doubtnut.com/l/_M7GcLe1tdVBJ

11. The cost of 18 chairs is ¥ 22770. How many

such chairs can be bought for ¥ 101207

° Watch Video Solution

12. A car travels 195 km in 3 hours.
a. How long will it take to travel 520 km?
b. How far will it travel in 7 hours with the

same speed?

o Watch Video Solution



https://dl.doubtnut.com/l/_DYVPOPnjA0ap
https://dl.doubtnut.com/l/_Oh1bCQ0jHs3y
https://dl.doubtnut.com/l/_HFzyFQPv7k2w

13. A labourer earns ¥ 1980 in 12 days.
a. How much does he earn in 7 days?

b. In how many days will he earn ¥ 26407

o Watch Video Solution

14. The weight of 65 books is 13 kg.
a. What is the weight of 80 such books?

b. How many such books weigh 6.4 kg?

o Watch Video Solution



https://dl.doubtnut.com/l/_HFzyFQPv7k2w
https://dl.doubtnut.com/l/_HJLKPkEGHCJ8
https://dl.doubtnut.com/l/_miDXiJY6ZQwy

15. If 48 boxes contain 6000 pens, how many

such boxes will be needed for 1875 pens?

o Watch Video Solution

16. 24 workers can build a wall in 15 days. How

many days will 9 workers take to build a similar

wall?

A. 30 days

B. 40 days

C. 50 days


https://dl.doubtnut.com/l/_miDXiJY6ZQwy
https://dl.doubtnut.com/l/_U0f6inJsHdbI

D. 60 days

Answer: B

o Watch Video Solution

17. 40 men can finish a piece of work in 26
days. How many men will be needed to finish it

in 16 days?

o Watch Video Solution



https://dl.doubtnut.com/l/_U0f6inJsHdbI
https://dl.doubtnut.com/l/_FP91sugT8gsi

18. In an army camp, there were provisions for
550 men for 28 days. But, 700 men attended

the camp. How long did the provisions last?

o Watch Video Solution

19. A given quantity of rice is sufficient for 60
persons for 3 days. How many days would the

rice last for 18 persons?

o Watch Video Solution



https://dl.doubtnut.com/l/_PrhKfOgTCVsS
https://dl.doubtnut.com/l/_Z7xLpVXCR9KQ

Exercise 10 D

1. The ratio 92 : 115 in its simplest form is

A. 23:25
B.18: 23
C.3:5

D. 4:5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CVuQRM9du1EQ

2. If 57:X ::51:85, then the value of x is

A. 95

B. 76

C. 14

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fjpfJ8WSnDv2

3.1f 25:35 :: 45 : x, then the value of x is

A. 63

B.72

C. 54

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZXaOlyLbBqEK

4. |f 4:5::X:35, then the value of x is

A 42

B.32

C. 28

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_enW5UTM5BFxs

5.1f a, b, c,d are in proportion, then

A. ac = bd
B.ad =bc
C.ab=cd

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_y2Zm6fXAEhx9

6.1f a, b, carein proportion, then a’> = be (b)

b’ = ac(c) & = ab (d) None of these

A.a =bc
B.b =ac
C.c=ab

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DnetWCOSGYwh
https://dl.doubtnut.com/l/_k2ydszNscMrn

7. Choose the correct statement:

A.(5:8) > (3:4)
B.(5:8) < (3:4)
C. two ratios cannot be compared

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_k2ydszNscMrn

8. If ¥ 760 is divided between A and B in the

ratio 8:11, then B's share is

A.7 440

B.3320

C.%430

D.3¥330

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_OCH6u0LvJgpj
https://dl.doubtnut.com/l/_Zf8RFks1ijaa

9. Two numbers are in the ratio 5: 7 and the

sum of these numbers is 252. The larger of

these numbers is

A. 85

B. 119

C. 105

D. 147

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Zf8RFks1ijaa
https://dl.doubtnut.com/l/_19oowRv6iolW

10. The sides of a triangle are in the ratio 1:
3:5 and its perimeter is 90 cm. The length of

its largest side is

A.40 cm
B. 50 cm
C.36cm

D.54 cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_19oowRv6iolW

1. The ratio of boys and girls in a school is 12:

5. If the number of girls is 840, the total

strength of the school is

A. 1190

B. 2380

C. 2856

D. 2142

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jhX6tj8Hx1Gr

12. If the cost of 12 pens is ¥ 138, then the cost

of 14 such pens is

A.7 164

B.161

C.¥118.30

D.?¥ 123.50

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_N9OUCq7Qgxcv
https://dl.doubtnut.com/l/_c883BDJD6ANL

13. If 24 workers can build a wall in 15 days,

how many days will 8 workers take to build a

similar wall?

A. 12 days

B. 45 days

C. 18 days

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_c883BDJD6ANL
https://dl.doubtnut.com/l/_ISHKhV7Y8gb2

14. If 40 men can finish a piece of work in 26

days, how many men will be required to finish

it in 20 days?

A.52

B. 31

C.13

D. 65

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ISHKhV7Y8gb2

15. In covering 111 km, a car consumes 6 L of

petrol. How many kilometres will it go in 10 L

of petrol?

A. 172 km

B. 185 km

C. 205 km

D. 266.4 km

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UwxwqQu39Wbh

16. In a fort, 550 men had provisions for 28
days. How many days will it last for 700 men?
A. 22 days
7
B. 50—
35 1 days

C. 34 days

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RJ6cCMFRxrZY
https://dl.doubtnut.com/l/_LwMGDlh4pBsn

17. The angles of a triangle are in the ratio 3:

1:2. The measure of the largest angle is

A.30°

B.60°

C.90°

D.120°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LwMGDlh4pBsn

18. Length and breadth of a rectangular field

are in the ratio 5: 4. If the width of the field is

36 m, what is its length?

A.40 m

B.45m

C.54m

D.50 m

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_exi2gnkZvqfZ

19. If a bus covers 195 km in 3 hours and a train

covers 300 km in 4 hours, then the ratio of

their speeds is

A.13:15

B. 15:13

C.13:12

D.12:13

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_E3yvMpz4RkLA

20. If the cost of 5 bars of soap is ¥ 82.50, then

the cost of one dozen such bars is

A.T 208

B.¥ 192

C.¥ 198

D.3204

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bWsagIPoPb6t
https://dl.doubtnut.com/l/_EYQ5z0Arvm9R

21. If the cost of 30 packets of 8 pencils each is

¥ 600, what is the cost of 25 packets of 12

pencils each?

A.X 725

B.¥ 750

C.¥ 480

D.¥ 720

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EYQ5z0Arvm9R
https://dl.doubtnut.com/l/_zcBFqJ32Hszi

22. A rail journey of 75 km costs ¥ 215. How

much will a journey of 120 km cost?

A.3344

B.¥ 324

C.3268.75

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_zcBFqJ32Hszi

23.The 1st, 2nd and 4th terms of a proportion

are 12,21 and 14 respectively. Its third term is

A.16

B.18

C. 21

D.8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IhT0JPXREa26
https://dl.doubtnut.com/l/_lzJcZTYXnhDi

24. 10 boys can dig a pitch in 12 hours. How

long will 8 boys take to do it?

A. 9h36 min

B.15h

C.6h 40 min

D.13 h 20 min

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lzJcZTYXnhDi

Test Paper 10

1. Find the ratio of:
a.90cm to 1.05m

b. 35 minutes to an hour
c.150mLto 2L

d. 2 dozens to a score

° Watch Video Solution

2. The ratio of zinc and copper in an alloy is

7:9. If the weight of copper in the alloy is 12.6


https://dl.doubtnut.com/l/_WPXUeV1ed56i
https://dl.doubtnut.com/l/_bVmYV6wYnKFr

kg, find the weight of zinc in it.

° Watch Video Solution

3. Divide Rs. 1400 among A, B and C in the

ratio 2: 3: 5.

A. Rs.290, Rs. 420, Rs. 700

B. Rs.100, Rs. 420, Rs. 700

C. Rs.280, Rs. 420, Rs. 700

D. Rs.180, Rs. 400, Rs. 700


https://dl.doubtnut.com/l/_bVmYV6wYnKFr
https://dl.doubtnut.com/l/_Ox4HOp7q8m6l

Answer: C

o Watch Video Solution

4. Prove that (5:6) > (3:4).

o Watch Video Solution

5.40 men can finish a piece of work in 26 days.

How many men will be needed to finish it in 16

days?

| 8 l


https://dl.doubtnut.com/l/_Ox4HOp7q8m6l
https://dl.doubtnut.com/l/_0A7ioPr8u8YL
https://dl.doubtnut.com/l/_K4H7hFGNg9lB

6.In an army camp, there were provisions for
425 men for 30 days. How long did the

provisions last for 375 men?

o Watch Video Solution

7. Find the value of x when 36: x::x:16.

A. x=23

B. x=24


https://dl.doubtnut.com/l/_K4H7hFGNg9lB
https://dl.doubtnut.com/l/_cBy3SAafl5kC
https://dl.doubtnut.com/l/_WTeGLyZuPzHJ

C.x=26

D. x=25

Answer: B

° Watch Video Solution

8. Show that 48, 60, 75 are in continued

proportion.

o Watch Video Solution



https://dl.doubtnut.com/l/_WTeGLyZuPzHJ
https://dl.doubtnut.com/l/_vCnlNvHIJvPb

9. Two numbers are in the ratio 3:5 and their

sum is 96. The larger number is

A. 36

B.42

C.60

D.70

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Q3B9HozsvUQd
https://dl.doubtnut.com/l/_dBovPybbIb2T

10. A car travels 288 km in 4 hours and a train

travels 540 km in 6 hours. The ratio of their

speeds is

A. 5:4

B.4:5

C. 5:6

D. 3:5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dBovPybbIb2T
https://dl.doubtnut.com/l/_gkrvDS3Rb3FS

11. The first three terms of a proportion are 12.

21 and 8 respectively. The 4th term is

A.18

B.16

C.14

D. 20

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gkrvDS3Rb3FS

12. The ratio 92 : 115 in simplest form is

A. 23:25

B.18:23

C.3:5

D.4:5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CJVBqwNW6Qs3

13. If 57:x::51: 85, then the value of x is

A. 95

B. 76

C. 14

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GGxwjHDXEvlg

14. If 4:5:: x:45, then the value of x is

A. 54

B. 60

C.36

D. 30

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4J7fQNEO0nsy

15.1f a, b, c are in proportion, then

A a’ = be
B.b2 = ac
C.c> = ab

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hq93jxqCZaDV

16. 10 boys can dig a pitch in 12 hours. How

long will 8 boys take to do it?

A.9 hrs 36 min

B. 15 hrs

C.6 hrs 40 min

D. 13 hrs 10 min

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_G51R2X9VX51T
https://dl.doubtnut.com/l/_sYQOhncGIGfj

17. In covering 148 km, a car consumes 8 litres

of petrol. How many kilometres will it go in 10

litres of petrol?

A. 172 km

B. 185 km

C. 205 km

D. 266.4 km

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sYQOhncGIGfj
https://dl.doubtnut.com/l/_vxX7fMx95jFj

18. Fill in the blanks

14 [] B §
T 3 T O
b.90cm:15m=..

c. If 36:81:: x: 63, then x =.......
d. If 25,35, x are in proportion, then x = ......

e.if 9, xx, 49 are in propotion, then x=..........

o Watch Video Solution

19. Write 'T' for true and 'F' for false for the
statement given below:

a. 30,40, 45, 60 are in proportion.


https://dl.doubtnut.com/l/_vxX7fMx95jFj
https://dl.doubtnut.com/l/_SRf0NBCyF8RX

b. 6:8 and 9: 12 are equivalent ratios of 3: 4.
c.a dozen : a score = 5:3.

d.60p:3¥ 3 =15.

o Watch Video Solution



https://dl.doubtnut.com/l/_SRf0NBCyF8RX

